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Lo(P), Y(F) AN T—8 AF) 27 ML T2 L& | FHkdiv, AR grad 128
THUTORKZEHIT,
(a) grad(py) = pgrady + Ygrady
(b) div(pA) = (grady) - A + @divA
2. WDRY b ADIEdivA %k X,

() A7) =7
(b) Ay =7t
(¢) A(F) = —d/r® + 3(d- F)F/r® (2 2T d X FIMREL RV B B2 hA)

3. KD x(t) \Zxd 5 2 s TR AR
(a) 2" + 22" + = = 8€e*
(b) 2" + 9z =202 + 4t + 7
(c) 2" 4+ 9x = —2cost
(d) 2” — 22" + x = €' sin 3t
(e) 2" — 22" + x = t%€!
4. 2 By TR
d*y(z)
da?
D fEfFEROI D, (T2lZL, r#r & $5,)
(a) u(z) = dy(z)/de —ry(zx) L EL ZEIZLD . EOWSHRENT u(z) o0 To 1
By HRERIC 72 5, Tha T,
(b) LD u(z) iz 2\ T O ITRERD iR %2 KD L,
(c) Lo#ERZE AV y(t) O 2 M TEAD —ixfif a2 R | Zhn

1
y(:c) — {emx/efhxf(x) dJ? _ e?‘gx/efrgxf(x) dl’} + clerlx + C2e'r2x

rn =T

142 4 riry(e) = £(2)

el Il S
(d) f(z) = Acoswzr DEEIT— Rz RDTH L,
5. D x(t) 1ITx3 Do Az fig
(a) 2" +2=0
(b) 2" + 22" —a2'—2=0
(¢) 2@ 422" + 2 =0
(d) 2" — 62" + 122" —8x =0



